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PART -1
Hotel Management & Catering Technology/Hospitality and Hotel Administration

is an appetizer from Spain.

W (b) Antojitos (c) Mezze (d) Antipasto

In context of Indian breads select the odd one out :

(a) Khameeri Roti (b) Roomali Roti (c) Naan (d) Sheermal

As per classification of fruits, which of the following is an example of Drupe ?

(a) Kiwi (b) Banana (c) Cherry (d) Passion Fruit

Which of the following is not from Goan Cuisine ?

(a) Bebinca (b) Caldo Verda (c) Xacutii (d) Pathiri
known as Chunjuan in Chinese.

(a) Dimsums (b) Spring Roll (c) Hakka Noodles (d) Manchurian

is a combined method of roasting and stewing in a pan with tight fitting lid.

(a) Broiling (b) Braising (c) Grilling (d) Pot Roasting

The blue ring found in a hard boiled egg is due to the formation of

(a) Hydrogen Sulphide (b) Ferrous Sulphide

(c) Zinc Sulphide (d) Iron-Copper Sulphide

section of the Kitchen is responsible for making Coffee, Tea, Juices, Sandwiches
and other breakfast dishes except fish and meat.

(a) Pantry (b) Still Room (c) Satellite Kitchen (d) Garde Manger
Russian Tea is served with .
(a) Orange (b) Mint (¢) Ginger (d) Lemon
means the speciality of the day in context of menu.
(a) PlatdulJour (b) Carte du Jour (c) Ala Carte (d) Table d’ hote
Which of the following is an example of Ale beer ?
(a) Block (b) Pilsner (c) Vienna (d) Porter
Select the wine which is served along with Stilton :
(a) Port Wine (b) Sherry (c) Red Wine (d) Marsala

An ideal order of serving dishes in food services is :
(a) Starters - Soup - Sweets - Main course (b) Soup - Starters - Main Course - Sweets
(c) Starters - Soup - Main course - Sweets (d) Main course - Starters - Soups - Sweets

This equipment is operated with methylated spirit and has reservoir for fuel, a wick with an
adjustment knob, a chimney and a grid.

(a) Flare Lamp (b) Gas Stove (¢) Chafing Dish (d) Liqueur Trolley
Cover lay-out for the service of Savoury is :

(a) Small knife and fork (b) Large knife and fork

(c) Fruit knife and fork (d) Eaten with hands

8' x 24" banquet table accommodates totally :
(a) 4 covers (b) 6 covers (c) 8 covers (d) 10 covers
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Rum is made from

(a) Molasses (b) Grapes (c) Potatoes (d) Cereals
List of ingredients with quantity and method of making a dish is called as :

(a) Specification (b) Indent (c) Record Book (d) Recipe
An aboyeur controls :

(a) Hot Plate (Pick-up) (b) Still Room

(c) Pantry (d) Silver Room

A food outlet servicing/serving snacks and beverages 24 hours a day and may serve all three
meals is called as :
(a) Bistro (b) Rotisserie (c) Coffee Shop (d) Kiosk

Which one of the following glassware is an example of a tumbler ?
(a) Rock Glass (b) Beer Goblet (c) Cocktail Glass (d) Brandy Sniffer

is a type of ice-cream served in a tall glass with fruits, nuts and syrup.
(a) Oyster (b) Sundae (c) Cassata (d) Bombe

is a method of serving food in which food is placed on the plate by kitchen staff
and served by the waiter.

(a) American Service (b) English Service

(c¢) Russian Service (d) Silver Service

A small structure on a sidewalk with three sides open, serving beverages and snacks is called as :
(a) Take Away (b) Food Court (¢) Kiosk (d) Cafeteria
Scullery refers to :

(a) Garbage Disposal (b) Pot wash

(c) Pest Control (d) Cafeteria Cleaning

Minimum ageing required for Scotch Whisky is :

(a) One year (b) Two year (c) Three year (d) Five year
Chef de Rang is another name for which of the following Restaurant staff ?

(a) Station Head Waiter (b) Station Waiter

(c) Head Waiter (d) Junior Station Waiter

A stronger, more easy to clean material used to cover the lower part of a wall approximately
upto 150 cm from the floor is called :

(a) Dado (b) Skirting (c) Concrete (d) Cornice

A register in the Central Housekeeping that passes written down instructions and messages
from one shift to the next is called as :

(a) Function Prospectus (b) Log Book

(c) Occupancy Report (d) Discrepancy Report

The basic colours that cannot be obtained by mixing other colours/hues are called :
(a) Tertiary colours (b) Secondary colours

(c) Neutral colours (d) Primary colours

An authorization given to the employee to let him take guest or hotel property out of the
hotel is called as :

(a) Authorisation slip (b) Permission Card
(c) Gate Pass (d) Outgoing Pass
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A coarse woven cloth laid under the table cover to make it nonslip and absorb cutlery sound
is called as :

(a) Slip cloth (b) Baize cloth (c) Table sheet (d) Duvet
Published rate of a particular type of room before any discount is called :

(a) Rack rate (b) Room rate (c) Tarriff (d) Package Rate
Master folio is a term commonly associated with :

(a) Corporate (b) City folio (c) FITs (d) Groups

Guest supplies not normally found in a guest room but are made available to a guest on
request are called as :
(a) Request Item (b) Special Inventory (c) Guest Loan Items (d) Guest Amenities

A hotel that is jointly owned by people who use it at different times is called :
(a) Proprietary Ownership (b) Time-share Hotel
(c) Transient Hotel (d) Semi-residential Hotel

A schedule that indicates how often the items listed in an area inventory list are to be cleaned
or maintained is called as :

(a) Division of work document (b) Area Inventory List

(c) Operating List (d) Frequency Schedule

A flower arrangement made in a tall vase is known as :

(a) Beedemeter (b) Hikae (c) Hogarth (d) Seeka

Hotels located primarily on highways to cater to the needs of highway travellers are called as :
(a) Boatels (b) Floatels (c) Rotels (d) Motels

‘Opera PMS’ is a part of

(a) IBM (b) GE (c) Oracle (d) Symantec

Decorative heading made of filled or pleated material and fixed over the top of a curtain is
known as :

(a) Valance (b) Swag (c) Hessian (d) Dado
Which amongst the following staff provides information and personalised services to the guest ?
(a) Bell Boy (b) Valet (c) Concierge (d) Commissionaire

The equipment used for chilling or freezing hot food in about two hours to maintain food
safety and hygiene is called as :

(a) Deep Freezer (b) Blast Freezer (c) Cold Store (d) Walk-in
Non-nutritive substances added in food in small quantities to improve its appearance,
flavour, texture or storage properties are called as :

(a) Food Additives (b) Food Adulterants

(c¢) Food Contaminants (d) Food Supplements

The only form of energy used by central nervous system is

(a) Protein (b) Fat (c) Glucose (d) Starch

The only material that can make new cells and rebuild tissues is called :

(a) Protein (b) Amino acid (c) Fat (d) Carbohydrate

FSSALI stands for :

(a) Food Security and Standards Authority of India
(b) Food Sampling and Security Authority of India
(c) Food Safety and Standards Authority of India
(d) Fruit Sampling and Standards Authority of India
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Any substance-solid or liquid which nourishes the body and is fit to eat can be called as :

(a) Nutrient (b) Food (c) Diet (d) Healthy
A diet planned for a diabetic person should avoid :

(a) Leafy Salad (b) Fish and Egg

(c) Meat (d) Refined Carbohydrates

Which of the following food is the richest source of Vitamin A ?
(a) Liver (b) Fish (c) Egg (d) Milk

According to HACCP which of the following is not an example of Microbiological Hazard ?
(a) Virus (b) Algae (c) Fungi (d) Pesticides

Blue Rot disease affects which of the following food ?
(a) Milk (b) Fish (c) Citrus Fruit (d) Egg

Viscosity of white sauce can be estimated by :
(a) Litmus Test  (b) Line Spread Test (c) pH Test (d) Triangle Test

Mechanical pressing of ripe olives to extract oil without using heat, producing excellent
quality pure virgin oil is known as :
(a) Zero Pressing (b) Double Pressing (c) Cold Pressing (d) Hot Pressing

Which “NUT” or “Oil Seed” has the highest amount of fat ?
(a) Walnut (b) Groundnut (¢) Soyabean (d) Fresh Coconut

Which rating measures the degree of pleasure provided by the characteristic of food being
evaluated ?

(a) Profiling (b) Dietary Monitoring
(c) Hedonic (d) Rendering

To check the efficiency of pasteurization following test is widely used :
(a) Sucrose Test (b) Maltose Test (c) Lactose Test (d) Phosphatase Test

In which type of Barriers, does premature evaluation fall ?

(a) Semantic Barriers (b) Psychological Barriers
(c) Organizational Barriers (d) Personal Barriers
TTDI stands for :

(a) Travel and Tourism Development Index
(b) Transport and Tourism Development Index
(c) Travel and Tourism Demand Index

(d) Transport and Tourism Demand Index

Which leadership theory has proposed that “there is no one best leadership style” ?

(a) Charismatic Theory (b) Trait Theory

(c) Behavioural Theory (d) Situational Theory

What does term ‘DINK’ in Tourism stand for ?

(a) Double Income No Kids (b) Double Incentive No Kids
(c) Double Increment No Kids (d) Double Interest No Kids
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62. Which one of the following is not correctly stated ?
(a) Ecotourism is an important form of nature based tourism.
(b) Ecotourism is community oriented and driven.
(c) Ecotourism is government led and private sector controlled.
(d) Ecotourism is important form of sustainable tourism.

63. ‘Char Dham’ of Hindu Pilgrimage are :
(a) Badrinath, Dwarka, Rameshwaram, Puri  (b) Yamunotri, Gangotri, Kedarnath, Puri
(c) Badrinath, Dwarka, Puri, Haridwar (d) Ujjain, Prayagraj, Puri, Vaishnodevi
64. According to Mathieson & Wall (1982) Basic Elements of Tourism, which amongst the
listed below is incorrect ?
(a) The Dynamic Element (b) The Destination Element
(c) The Consequential Element (d) The System Element

65. In context of Airlines what does the first freedom of air covers ?
(a) The right to pick passengers from other country
(b) The right to fly over another country without landing
(c) The right to fly over sea
(d) The right to land in any country

66. Managerial Grid has been developed by :

(a) Blake and Mouton(b) Rensis Likert (c) W.J. Reddin (d) Elton Mayo
67. In which ancient text, we find mention about ‘the regulations for foreign travellers’ ?

(a) Kadambari (b) Arthashastra (c) Kalpsutra (d) Malati Madhava
68. fires involve/are caused due to electrical equipments.

(a) Class A (b) Class B (c) Class C (d) Class D
69. Which amongst the following is not an element of Communication Process ?

(a) Encoding (b) Channel (c) Receiver (d) Measurement
70. is not a part of Cohen’s Tourist Typology.

(a) Explorer (b) Drifter

(c) Elite Tourist (d) Individual Mass Tourist
71. International Air Traffic Association was founded in .

(a) Hague (b) Havana (c) Montreal (d) Geneva
72.  Which amongst the following year was observed as “International year of Millet” ?

(a) 2021 (b) 2022 (c) 2023 (d) 2020

73.  Which function is not included in Financial Accounting ?
(a) Checking the books whether they are correct or not
(b) Amending and Adjusting Accounts
(c) Create Final Accounts
(d) To find the cost of finished goods

74. The prime function of Accounting is to :
(a) Record Economic Data
(b) Provide the informal basis for action
(c) Classify and record business transactions
(d) Attain non-economic goals

75. The may indicate that the firm is experiencing stockouts and lost sales.
(a) Average Payment period (b) Inventory Turnover ratio
(c) Average Collection period (d) Quick Ratio
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76. A branch of accounting which primarily deals with processing and presenting accounting
data for internal use in the concern is called :
(a) Cost Accounting (b) Financial Accounting
(c) Management Accounting (d) Inflation Accounting

77. If the total assets of a business concern are T 1,50,000 and owner’s equity is T 80,000 the
amount of liability will be :

(a) 70,000 (b) 2,30,0000 (c¢) % 1,50,000 (d) ¥ 1,00,000
78.  Which of the following is not the technique of Financial Statement Analysis ?

(a) Trend Percentage (b) Fund Flow Analysis

(c) Cash Flow Analysis (d) Variance Analysis
79. Which of the following is a Satisfactory Liquid Ratio ?

(a) 1:1 (b) 2:1 (c) 1:2 (d 3:1
80. The following data is related to Hotel Oberoi :

3

Net Profit as per Profit and Loss Account 1,20,000

Depreciation for the year 40,000

Goodwill written off 20,000

Profit of sale of fixed assets 8,000

Proposed Dividend 48,000

What would be the funds generated from operation ?

(a) 2,20,000 (b) 2,00,000 (c) % 1,70,000 (d) None of these
81. Which of the following is not treated as uses of funds ?

(a) Loss from operation (b) Payment of dividend in cash

(c) Redemption of capital in cash (d) Sale of fixed assets for cash

82. Business Entity concept means :
(a) Separate existence of business and owner (b) Business and Businessman together

(c) Business and Creditors together (d) Business and Debtors together

83. Which of the following financial statements is generally prepared first amongst all ?
(a) Balance Sheet (b) Statement of retained earnings
(c) Income statement (d) Statement of cash flows

84. Capital means :
(a) Amount invested in the business by Debenture holders
(b) Amount invested in the business by its owner
(c) Total assets of the business
(d) Loan

85. Which of the following statements is correct ?
(a) IfPI<1,its NPV is less than zero. (b) If PI=0, its NPV is greater than zero.
(c) IfPI>1,its NPV will be negative. (d) PIofaprojectis always greater than one.

86. Indian Accounting Standard 38 is concerned with :
(a) Financial Instruments (b) Presentation of Financial Statements
(c) Intangible Assets (d) Employee benefits

87. Funds flow statement helps in study of :
(a) Profit (b) Working capital (c¢) Cost (d) Current assets
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uﬁﬁwaﬁﬁwﬁmﬁ% JUHEd B

(a) AT @R (b) Torfi SraTeRa (c) &Y @R (d) JER (THIf) @R
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ffcTRad § | o |1 S=qESh aterdl 9T & ?

(@ 1:1 (b) 2:1 (c) 1:2 d 3:1
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100.

A Yoghurt based dessert from Gujarat & Maharashtra, made from hung curd, sugar and
cardamom powder :

(a) Puranpoli (b) Shrikhand (c) Modak (d) Chennapoda
When sugar is boiled, it caramelizes at temperature.

(a) 120°C (b) 143°C (c) 156°C (d) 163°C

‘Brat Pan’ is used for :

(a) Bulk Cooking (b) Small titbit Savouries Making

(c) Container to heat oil (d) Multi-Cuisine Restaurant

A French pancake stewed in orange floavoured caramel sugar and flambeé with congnac

brandy on Gueriden Trolley is called :
(a) Tarte tatin (b) Baguette (c) Crepe Suzette (d) Madeliene

A paste made from ground almonds and sugar mixed in varying proportions used for
covering wedding cakes is called :

(a) Butter Icing  (b) Short Crust Paste (c¢) Choux Paste (d) Marzipan

Marshmallow is a type of :
(a) Candy (b) Fondant (c) Custard (d) Frozen Dessert

The term used in Indian cooking for cooking an item in its own steam is known as :
(a) Bhapa (b) Dum (c) Baghar (d) Dhungar

It is made by coagulating Soy Milk and pressing the curds into soft white or creamy blocks
and is used in Oriental Cuisine :

(a) Cottage Cheese (b) Conpoy (c) Bokchoy (d) Tofu
is a long, narrow pasta that resembles cork screw.
(a) Penne (b) Fusilli (c) Cannelloni (d) Capellini
A popular Keralite dish made from fermented rice paste in a special Wok and eaten with

vegetable or meat stew is called as :
(a) Appam (b) Pathari (c) Puttu (d) Malabari Parantha

Egg whites and sugar whipped up together to form a consistency of whip cream is called
as:

(a) Paner (b) Fricasse (c) Meringues (d) Terrine

French term for bunch of herbs used to flavour stock is called as :
(a) Essence (b) Boquet Garni (c) Court Boullion  (d) Mire Poix

Royal Icing is prepared by :
(a) Beating Egg Yolk and Icing Sugar (b) Beating Egg White and Liquid Glucose
(c) Beating Egg White and Sugar Syrup  (d) Beating Egg White and Icing Sugar
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92. ﬁﬁgqa%mamaﬁ@wﬁwﬁwmé%nw(W%W)ﬁw%%ﬁgﬁm%,
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(a) Hhet (b) Hise (c) HE (d) WIsH S
94, R uThtett | fopeft Tered 1 319t W T g hl R HEd 8 ? .
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PART -2
General Studies
Khatling glacier is situated in which one of the following districts of Uttarakhand ?

(a) Pithoragarh (b) Chamoli (c) Tehri Garhwal (d) Uttarkashi
Which one of the following options is not correctly matched ?

(a) Dodital — Uttarkashi (b) Devariatal — Tehri Garhwal

(c) Benital — Chamoli (d) Basukital — Rudraprayag

‘Kraya Vivah’ is prevalent in which one of the following tribes of Uttarakhand state ?
(a) Buksa (b) Raji (¢) Shauka (d) Tharu

In Uttarakhand tea was first introduced in which one of the following years ?

(a) 1830 (b) 1835 (c) 1840 (d) 1845
‘Kedarkantha’ is associated with which one of the following ?

(a) Airport (b) Festival (c) Mountain Peak  (d) Buggyal
Which one of the following districts of Uttarakhand is NOT adjacent to the border of Tibet ?
(a) Uttarkashi (b) Chamoli (c) Pithoragarh (d) Pauri Garhwal
‘Save the Seeds Movement’ was led by whom among the following ?

(a) Vandana Shiva (b) Dhoom Singh Negi

(c) Vijay Jardhari (d) Mahendra Kunwar

‘Kaudiyala’ in Uttarakhand is related with which one of the following ?

(a) Skiing Sport  (b) River Rafting (c) Motor Biking (d) Glacier Climbing

Govind Wild Life Sanctuary is situated in which one of the following districts of
Uttarakhand ?

(a) Pithoragarh (b) Rudraprayag (¢) Chamoli (d) Uttarkashi

Which one of the following pairs of Uttarakhand is included in the UNSECO World Heritage
Sites ?

(a) Nanda devi National Park and Valley of Flowers National Park

(b) Govind Wild Life Sanctuary and Corbett Tiger Reserve

(c) Kedarnath Wild Life Santuary and Corbett Tiger Reserve

(d) Badrinath-Kedarnath and Hemkund-Roopkund site

Which one of the following is the botanical name of the Buransh ?
(a) Quercus leucotrichophora (b) Saussurea obvallata
(c) Rhododendron arboreum (d) Lophophorosus impejanus

Which one of the following rivers is the largest river of Kumaun region in terms of volume
and catchment ?

(a) Janhavi River (b) Kali River (c¢) Bino River (d) Gagas River
Who among the following has awarded the Royal Geographical Society’s Patron’s Medal ?
(a) Tenzing Norgay (b) Surveyor General Prithvish Nag

(c) Colin Mackenzie (d) Pt. Nain Singh Rawat

Series-A 16 ORG



101.

102.

103.

104.

10s.

106.

107.

108.

109.

110.

111.

qur -2

AW T
et ferae strave o frefefiad sHuc § 3 forg wen 8§ fRq R 2
(a) foeiimmg (b) =mIeh ORERCCIS] (d) IR
FreferRaa foehedt § @ & @1 T wdl gufed & 8 7
(a) SISt — ITAHIM (b) <afETae — fead Tear
(¢) ST — =T (d) STghATS — FEIATT
‘o fereme’ IrEve U= o frefafad senfoai 4 @ fore v A wefoa 2 2
(a) T (b) TSt (c) AT (d) om&
ITTEUE T = i e Frfeiiad awi # 9 fore wen o g3 off 7
(a) 1830 (b) 1835 (c) 1840 (d) 1845
‘Sherehial frfefga 4 @ fra wr A gafRa 2 2
(a) TGS (b) TIER (c) weid R (d) T
ITEUS 1 feriad foreti § & ohiv o1 Ueh foassd Hl dm g e T8l & 7
(a) ITCHTR (b) =Tt (c) Tueiirre (d) T TEET

S T i 1 fefaTRad 6 | ferdeh g A foRa T o ¢
(a) s R (b) gw f&g it (c) Torsa sart (d) TE% PR

IrEve § ‘ifearen’ Frefafad 8 9 fra v a g=fRa g 7
(a) @HEIEA  (b) T Ui (c) et amsfehm (d) feue e

TMere I=ISd STYIROT ITTETE & HHfdfga e a4 fra whr i @ 2
(a) TouRrTe (b) FEIATT (c) =meAl (d) AT

FrefetRaa i o & ITREve w1 i |1 Teh I JEh! fovd eliet worei | aftirfera fran mn g 2
(a) TaTee THRI IEH TE el i are TR e

(b) A< F=ISid FATIRTY U hisic STe ferd

(c) “hGRATY SI=FSiel THANTY T Hisie ST Testel

(d) SERTY-HETATY Td SHHIS-FIFHIS T

Freaferfea & & =9 |1 U S 1 aefos IR ?

(a) TR TYIZTEHIBRT (b) TrgRET sfseeter
(c) USIEgH FATsiiiem (d) TG ST

112. %ﬁgqqamw & 61 gfY & Frferfiea afeat & @ o1 @ s 78 s & i Taifees §
?
(a) ST Gt OEINIER (c) fomit 7t (d) TTTE T
113. F=fafaa # @ f6a Tae famnfeea wramsd = deia tea @ fayfya frmmn 2 7
(a) qfSmT AR (b) HeleFeh ST et A1
(c) ohiferd Hehestt (d) ufvea 37 fag Tad
. e — e




114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

In Uttarakhand State ‘Chhipla Jaat’ is associated with which one of the following ?
(a) A tribal community (b) A death rites
(c) A travel event (d) A folk dance

Who among the following is related with Dudhatoli Lok Vikas Sansthan in Uttarakhand ?
(a) Sachhidanand Bharti (b) Bharat Bisht
(c) Kalyan Paul (d) Shekhar Pathak

According to the folk stories famous in Uttarakhand which one of the following is known as
a symbol of Famine and Poverty ?

(a) Chaittol (b) Kandali (¢) Khatarua (d) Jagda
Uttarakhand state has introduced its first tourism policy in which one of the following years ?
(a) 2000 (b) 2001 (c) 2002 (d) 2005

Which one of the following books is written by Padmashree Dr. Yashodhar Mathpal ?
(a) Transhumance in the Alaknanda Basin (b) Hari-Bhari Ummeed

(c) Rock Art in Kerala (d) Conservation of Rock Art
Bissu Ganiyat fair is famous in which one of the following areas ?

(a) Niti-Mana Valley (b) Askot-Arakote area

(c) Darma Valley (d) Jaunsar-Bawar region

Popular tourist destination Munsyari is situated on the banks of which one of the following
rivers ?
(a) Gori Ganga (b) Dhauli Ganga (c) Birahi Ganga (d) Vasuki Ganga

Find the missing term in the series —
3,20, 63,144,275, ?

(a) 354 (b) 468 (©) 548 () 554
What will be 10" term in the following series ?

357,363, 369, ...
(a) 405 (b) 413 (©) 411 (d) 409

In a certain code, TEACHER is written as VGCEJGT. How the CHILDREN will be written
in that code ?

(a) EJKNEGTP (b) EGKNFITP (c) EJKNFGTO (d) EJKNFTGP
In a certain code BEAT is written as YVZG, then what will be the code of MILD ?
(a) ONRW (b) NOWR (c) ONWR (d) NROW

One day Ram left home and cycled 10 km. southward, turned right and cycled 5 km; and
turned right and cycled 10 km; and turned left and cycled 10 km. How many kms. will he
have to cycle to reach his home straight ?

(a) 10 km (b) 15 km (c) 20 km (d) 25km

If L means +, M means —, N means x, P means +, then 14 N 10 L42P2M 8 =7
(a) 153 (b) 216 (c) 248 (d) 251
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frefarRad aut o & fore wh H IT@ve TSI 3 379HT Tget wie Hifd 61 yeama i 2
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357,363, 369, ...
(a) 405 (b) 413 (c) 411 (d) 409
fereft %Ig  TEACHER %! VGCEJGT fet@d & | 38t 18 § CHILDREN o1 68 ferat 2
(a) EJKNEGTP  (b) EGKNFITP (c) EJKNFGTO (d) EJKNFTGP
fopet e T BEAT &1 YVZG fot@d 2 @& MILD =1 3H i § w1 fer@ 2
(a) ONRW (b) NOWR (c) ONWR (d) NROW

Teh T T =X | Tehett 3R 10 fop. w1, gfeqor feum i oTR arsforet @ems, R wet 31k 5 fon .

aTgiehet =ems, TRt gr et 3R 10 fop. 1. Tmsferat wrams, @ smeff 3t ger 37w 10 f6. 0. amsfera
Teg | FY-TS 797 T Ig= & ford 3 foram fop. . Tmsferet serrt grft 2

(a) 10T (b) 15 .. (c) 20 .1, (d) 25 ..
AR LFT AT+ M BT AT - NHT 3 x, PHIFAT ~ B, AN 14NI10L42P2 M8 =2
(a) 153 (b) 216 (c) 248 (d) 251
— N e e




127.

128.

129.

130.

131.

132.

133.

134.

13S.

136.

137.

Find out the missing letter :

F|1]|O0
Al T K
E|M|?

(a) P (b) S (c) R d) V

How many rectangles are there in the following figure ?

(a) 10 (b) 9 (c) 8 (d) 7
If E=5, PEN = 35 then PAGE =?
(a) 27 (b) 28 () 29 (d) 36
If a :E ZE, then the value of Lbﬂ: is

3 4 7 v
(@) 1/47 (b) 2 ©) 2 d) 7

The cube root of 0.000216 is ?
(a) 0.06 (b) 0.6 (c) 0.006 (d) 0.066

The average of all prime numbers between 30 and 50 is

(a) 39.8 (b) 49.8 (c) 49.9 (d) 39.9

If 20% of a = b, then b% of 20 is the same as
(a) 5%ofa (b) 4% ofa (¢) 20% ofa (d) 40% ofa

Ram purchased a car at 9/10"™ of its selling price and sold it at 8% more than its selling price.
His gain % is .
(a) 10% (b) 15% (c) 20% (d) 25%

A and B together can complete a work in 4 days. If A alone can complete the same work in
12 days, then in how many days can B alone complete that work ?

(@) 8 (b) 6 (c) 7 (d) 4

What is the value of x ?

25 25 25 49
100@100 25@81 25@25 36@9
25 36 25 16
(@) 2 (b) 3 (c) 4 (d) 5

If the length of the diagonal of a square is 20 cm, then it’s perimeter must be :

(@) 10¥2 cm  (b) 40cm (c) 4042 cm (d) 200 cm
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127. T 378 T L :

F|I1]O
AlJ K
E|M|?
() P (b) S (c) R (d Vv

128. FHfcTREd 3TTehid H foha 3TRIA & 2

(a) 10 (b) 9 () 8 d) 7

129. Ife E=5, PEN=35%, 9l PAGE =?

(a) 27 (b) 28 (c) 29 (d) 36

130, 7 222 g G A0FC st
3 4 7 c

(@) 1/47 (b) 2 ©) 2 d) 7
131. 0.000216 3T TG 1A B |

(a) 0.06 (b) 0.6 (¢) 0.006 (d) 0.066
132. 30 3T 50 o AEF 3T Areft Teft A=Y Tl &1 30Ed 8

(a) 39.8 (b) 49.8 (c) 49.9 (d) 39.9
133. Ife a1 20% = b, a1 20 T b% Terees ST R 2

(a) a<hl 5% (b) a<hT1 4% (c) a=hl 20% (d) a<ht 40%

134. T 9 Toh R 39 (56T Jed b 9/109 WIT o Hod W GG T Tk o3 € 8% 31 W o=
ARESEIRGIE B IRN G _

(@) 10% (b) 15% (c) 20% (d) 25%

135. AU BT 4 ol Tk T 4 fea T o Tehd 8 | Ife A Sshenn S v bl 12 fea A s wepan 2,
Al B 3Teherl foha Tl o 3} 1o <l 90 4T 2
(a) 8 (b) 6 (c) 7 (d) 4

136. x 1 HH &dR

25 25 25 49
100@100 25@81 25@25 36@9
25 36 25 16

() 2 (b) 3 (c) 4 (d) 5
137. e fentft ot & ferepol 1 &g 20 cm &1, 1 $HBT TRATT =T BT =1 2
(a) 1082 cm  (b) 40 cm (c) 402 cm (d) 200 cm
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138. If % 5,000 becomes I 45,000 in 60 years at simple interest, the rate percent per annum is :

(a) 15% (b) 13%% (©) 12%% d) 11%

139. Gold is 19 times heavy as water, and copper is 9 times heavy as water. In what ratio must
these metals be mixed so that the mixture may be 15 times heavy as water ?

(@) 1:3 (b) 3:1 (c) 2:3 (d 3:2
140. Two numbers are in ratio 3 : 7. The first number is what percent of second number ?
6 1 1 1
(a) 427% (b) 577% (c) 335% (d) 375%

141. Pench Tiger Reserve is situated in which one of the Indian states ?
(a) Karnataka (b) Uttarakhand (c) Madhya Pradesh (d) Bihar

142. Which one of the following dates have been declared as International Day of Happiness by
the United Nations ?

(a) 20® March  (b) 15%, July (c) 20™, August (d) 25" December
143. Siwalik Fossils Park is located in which one of the following states ?

(a) Himachal Pradesh (b) Uttarakhand

(c) Haryana (d) Jammu-Kashmir

144. Who among the following was the last king of the Mauryan Dynasty ?
(a) Dashrath (b) Brihadrath (¢) Kunal (d) Samprati

145. Acetyl salicylic acid, an active ingredient in aspirin is derived from the bark of which tree ?
(a) Eucalyptus (b) Oak (c) Pine (d) Willow

146. Butanone is a four-carbon compound with functional group
(a) Ketone (b) Carboxylic acid (c) Aldehyde (d) Alcohol

147. Which one of the following articles of the Constitution of India is related to the promotion
of International Peace and Security ?

(a) 41 (b) 43A (c) 43B (d) 51

148. Which one of the following iron ore types is also known as ‘black ore’ ?
(a) Magnetite (b) Limonite (c) Haematite (d) Siderite

149. As per 2011 census, highest percentage of urban population was found in which one of the
following states of India ?

(a) Mizoram (b) Maharashtra (¢) Gujarat (d) Goa

150. On which of the following dates the 6" Indian Ocean Conference was held in Dhaka ?
(a) May 04 to 05, 2023 (b) May 12 to 13, 2023
(c) May 25 to 26, 2023 (d) May 29 to 30, 2023
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138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

Ife 60 ¥ T TR AT 6T g H T 5,000 TGH T 45,000 BT 1T B, T AT <hl & Tfasrd gfd
LR

(@) 15% (b) 13%% (©) 12%% d) 11%
GHT O & 19 TN 9T R TaH dfer O | 9 TN 9 ], 1 rgat skt fere stara # fierm
<fe afep fasror ot & 15 7o s & 2
(@) 1:3 (b) 3:1 (c) 2:3 d) 3:2
< FEAI3TT 1 A 3 : 73 | T8l ST gol HEAT 3 fehd Nfasrd 2 2

6 1 1 1
(a) 427% (b) 577% (©) 335% (d) 375%
U S9SN ohE Tk AR T 1 fRra B 7
(a) e (b) STTE@UE (c) HEA TSN (d) fomr
frferfga fafi o & fora T 1 Sy TF g STRIER o1 feas =ifya feran w2 ¢
(a) 20U (b) 15 T8 (c) 20 37T (d) 25 feamr
Teranferes Sframew wreh f=ferfiga T @ & form e # safR@ § 2
(a) oo I (b) STETS (c) hamm (d) STH-HTHR
fraferfaa @ @ i g s o sifm o e @
(a) CERY (b) TE5U (c) o (d) wesifa

THiersa Afatfere 3Tt St o TSI &1 U | Tew BT 2, W o8 U o 1 & e
AR ?

(a) ehicTed (b) 3 (c) UTEH (d) faen
ST - AT &, et ohaTeres 998 @
(a) HRH (b) HEifafcts T (c) Ueeass (d) TehIErd

YT % \fauH = Frefafad sgesel @ @ SiF 91 T SA=RigE it 3T g & agrer ¢ 8
grEfRa g ?

(a) 41 (b) 43 (c) 439 d) 51
Trafefigd oitg 3795k T §  hiH ©1 Ueh “ShIcll 3T%h o A9 F fi ITAT ST 8 7
(a) HHeTEE (b) fermmTEe (c) BHIeTse (d) Frstse

I o Freforfad T=ai § @ fohm T § 2011 31 SHUMET o STTHR THIT SHEE 1 Jiawrd
Tatfersh qrIm TR T ?

(a) fosiiem (b) HWERTY (c) TSI (d) e
150. Sa1 TR Tg1 THe (Hferiad § & fopd faf¥ sl gt § ava= gam o 7
(a) W% 04 05,2023 (b) TS 128 13, 2023
(c) W% 25% 26,2023 (d) T 29T 30, 2023
S o TS
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